$IEERETE T ARESHE
rr
1€ HPER 106&04’4295( ) 08:30-17:10
2ERFE A FTEA T S RREGFTO T 8 A RE2I5)HEE

08:30-08:55 # 3]
08:55-09:00 B %
R AR
09:00-09:50 WE MAR (W2 4R RE L)
A ERE (N2 EASLRE AT EREFTT )
09:50-10:10 K b

10:10-11:00 | i 4F 4 1A (K2 @ & X L 33F 2 7§ 9)
FL2008 | OF - FRA -G FeREFOLSP LRV H
A s | QL% A o B E FIF TR

11:00-11:10 =

t»,\;

11:10-12:00 | L3 4 : FHA (A2 % & <§ FIEZ & BIEFE T )
£ 204 48 @ﬁ_’ﬁ—»_:”&ﬂfi P N‘A‘mﬁgf’bﬁwt
SbA s | Ok r — S#E ?\:Irsm—ﬂ?ﬁ#\zﬁﬁﬁﬂ']m@ T A 15 A B I i &

= % (9104 - 91
12:00-13:30 % (9104 ~ 91054 %)

12:50-13:30 /% 3R 3 %

EEKEREH L o e

(#E&?i' < #9104% %)
AR R (B2 SR L F )
['i 'Fﬁilﬁ'l'] wor 104 48 v‘f‘aﬁ5lv\
Os Lua(Ei7 ¢ FHaPR])
I EBGFTH;P =T Z )
TR KE-L7F APP ik it {c§ ¥
CERENCEER S B
NEL -4
13:30-15:35 | OFRFE(FF1 7 ATEF % | §)
B (st EERY)
?,‘:gi’r JeFiFit s A F

[BErdma) Hm200 4 33#%204 4 PP
OIF (5 L2 L3111 ) RAT 2
©E§%(E‘*””4§l@] 1) ©13:30-15:00 F %

TR OFE (B LBBEL R
TEL(BEARCER)
e fz(fs%imi»f\ﬁl g
'ﬁ‘vﬁﬁﬁ/l\ f?‘:iﬁ 7-.‘
15:35-15:50 ;;; #x
A FA D F (R ES F I RRR)
[#BxEFT] Fm200 4 4320454
OF (G L ® b LK)
EHRGTH D A RS PE])
15:50-17:10 BIFE2 ? ¥
@rw FRTHRD RAIEE R )
F BT R L YR
Hlre b (o s W2 R )
3\- eh7 L LEcS

)
; ©15:30-16:309 5 & 4

i

17:10- KREFEEF R




Bt BETRSED 2
& IR E

o BFRABR12:10815RAER ; 17:00R BIFRBH -

2 REFH

o BIRERIER (12:50-13:30 ) FRREN WM EH AT AT WM
W | T [l w2 L
O 3 )
POL | Lo |RETEAEERET R OBEL | TR BRI I DL BFH]
PO2 | %% |2 RAD 4 T LR R A AN RS
R | WG Es HEZFALE = 5 n 3 s
pog | MW B2 LT RAET FEP | imm pmacs b2 whn i i
R | AT
| & oA B P i ZT"‘ e £a)
PO4 | %3 % T;F% FRRRTEAREER | s apgmy ot o
5
po5 | sy gy | BT ESFRFRTFLEARES W EL T R R g
1T LRREF3




